RO 5 (2) (F55k, ORI UHT5ER)

bfa 25y

2K RERAE
WiREs <BLIEE LEFER
2N & H & Al BYEL AR TR ZRLEHE
w 1,451,676 @ | AALERY —f fek EEERD (1} £\ 3,800/ (7:30~12:15). 3,000/ (11:30~
EY I . W ) 15:15), 3,100/ (14:30~18:15) . (3,800 +3,000
(HEBLAE SR 107,532 E) DFik | XOM )| M'+3,100/) X2 8 X 5238 X FEH 107 X FIA
0.3682=405,636
(GEEBiE L4 =) AtLH ¥R 29 £ 3 A 29 H (2) #E (L HEFER, @B (3,800 +3,000
W1 R o [EEERrEAEEES 1 Hgtss,éogqﬂ)xwﬁ X EHE21.07 X 5203682
5 B =As = ,5 5
3 s ' (3} FAL— (AAMNBI0AET), 3,300[ (17:30~
(HFBLE 2R E) 32:15)\ 3,300 X6 H X318 X FHEH1.07 X FH
220.3682=241,821]
e (BB SR M) |EEENICROIETHEE 2 (4) S2H 3,000/ (8:30~12:15). 3,000/ (11:30~
EH2 (R ) 15:15), 3,100/ (14:30~18:15) ., (3,000 +3,000
(TR FR X4 2 M) g%;g;z,logzq) x:FE{ X 5218 X HHE1.07 X F AR
.3682="745,71
A |ZEEZMRSZEFERR 3 EEZNORSOHEFHFERELZHEE
. S CEEES M) 5 ERIEMEAT 85 16 74025 1IR3 =
RES [ ) BEIE S ORI ORESICET D RE3T
R B 4 4 ) f%;rﬂi:iﬁﬁﬁ“éﬁm‘ilﬂ AT A— AM
XA —
¥ 1,451,676 9 RFERTEAR BT HARE if =
i #& |GEEBAE L 107,532 1) | , o B FE29¢FE 48 18
R SO PR2ZOF 48 1R = ¥M30%E 34318
(FErm o B ¥ # A H
EAETEEROMOSTH) e = TH £ A A
(5 34 FR) . o H ¥ & H H
AREREEABAF T A~ A p— | Sl | TR R A = ik £ B n
s o B FH 4 A ©
AE3 | FE R F A H = Tk £ 8§ &
ERLEBL RS OLER £ 3 %
Rk 20F BT R HRIG R S EH &5 (BMRKN) RAFHAIEEE N




